O

G

GREEN LEAF GREEN LEAF
¥ 51 ¥ 51 B
Fiim X T3 H K [R) 10 X T 7R

Rod End Bearings Spherical Plain Bearings

www.zjgreenleaf.com www.zjgreenleaf.com



e,

GREEN LEAF
i 51 4

2

GREEN LEAF
# 51 #8

SI...T/K SA..T/K

B
R e
L1,
I
| $
(7
7
L /! H15
L4
Maintenance free Lo
‘///' \ g
b s A
B RAETEEER AN ARY AL\ 2, 2
Rod body with left or right-hand female thread : X L2
L S .
i [ Maintenance -free
mH% PTFE E4## ! h
Sliding contact sarfaces : steel/ptfe . 1 au B
9 s I W TR AT S R HE o A HEAY AR AL
BT EEEES . L+ Rod body with left or right-hand female thread
1
H 1
Surface of rod body zinc plated : B R3 PTFE S2#E
I Y A\ 4 Sliding contact sarfaces : steel/ptfe
[]
£75 KN _ Wi R EE
adratings |Eii& 9 ds ;
Weight — Surface of rod body zinc plated
SI5ST/K B M5x0.8 8 6 9 27 18 36 4 8.5 14 1131 10 13 5.70 6.00
SIBT/K 6 Meoal:0] |8 675 i 30 20 40 5 10 13 12,70 12 18 7.20 7.65 22
SI8T/K 8 M8x1.25 12 9 14 36 24 48 125 16 15.875 16 14 11.6 12.9 47 - R~fmm e s
= (Dimensions Load ratings B
SI10T/K 10 Mi10x1.5 14 106 | 17 43 28 BT 6.5 15 19 19.068 20 13 14.5 18.0 77 Par?;Number ) g W9|ghl
SH2T/K 12 M12x1.76 16 12 19 50 32 66 65 17.5 22 22225 22 13 17.0 24.0 100 SA5T/K M5x0.8 11.11 5.70 6.00 13
SI12-1T/K 12 Mi12x1,25 16 12 19 50 32 66 6.5 17.5 22 22.225 22 13 170 24.0 100 SABT/K 6 M6x1.0 9 675 21 20 36 46 12.70 0.3 13 7.20 7.65 20
SI14T/K 14 M14x2.0 19 135 22 57 36 i) 8 20 25 25.40 25 16 24.0 31.0 160 SA8T/K 8 M8 x 1.25 12 9 25 24 42 54 15.875 0.3 14 11.6 12.9 38
SI14-1T/K 14 M14x15 19 135 22 57 36 75 8 20 25 2540 25 16 24.0 31.0 160 SA10T/K 10 M10x1.5 14 105 28 28 48 62 |19.05! 0.3 | 13 14.5 18.0 55
SI16T/K 16 Mi16x2.0 21 15 24 64 40 84 8 22 27 28.575 28 15 28.5 39.0 220 SA12T/K 12 Mi12%1.75 16 12 32 32 54 70 22.295 0.3 13 17.0 24.0 85
SI16-1T/K 16 M16x1.5 21 15 24 64 40 84 8 22 27 28575 28 15 28.5 39.0 220 SA14TIK 14 M14x2.0 19 135 36 3 18 60 78 2540 0.3 16 24.0 31.0 140
%J SI18T/K 18 IMi8x1.5 23 165 | 27 71 44 93 10 25 31 81.75 | B2 15 42.5 47.5 320 SA16T/K 16 M16x2.0 21 15 37 40 21 66 87 28575 0.3 15 28.5 39.0 210 §
o SI120T/K 20 M20x1.5 25 18 30 77 50 102 10 | 2785 34 34.925 33 14 42.5 57.0 420 SA1BT/K 18 M18x 1.5 23 16.5 41 44 22 72 940 315 N 15 42.5 47.5 280 =
m
g-l SI22T/K 22 M22x1.5 28 20 32 84 54 111 12 30 38 38.10 37 15 {78 68.0 540 SA20T/K 20 M20x 1.5 25 18 45 50 25 78 103 34.925 0.3 14 42.5 57.0 380 e
; SI125T/K 25 M24x2.0 31 22 36 94 60 124 12 33.5 42 42.85 42 15 68.0 85.0 720 SA22T/K 29 M22x1.5 28 20 48 54 27 84 Tl | B8:10 | 168 15 57.0 68.0 480 ;
(0] SI28T/K 28 M27x2.0 35 24 41 103 66 136 14 a7 46 47.60 51 15 86.0 107.0 820 SA25T/K 25 M24x2.0 31 22 55 60 30 94 124 42.85 0.3 15 68.0 85.0 640 (4]
n:J_ SI30T/K 30 M30x2.0 37 25 41 110 70 145 15 40 50 50.80 51 17 88.0 114.0 1100 SA2BT/K 28 M27 x 2.0 35 24 62 66 33 103 136 47.60 0.3 15 86.0 107.0 800 n:J
{g SI30-1T/K 30 M27x2.0 37 25 41 110 70 145 15 40 50" :50.80/ 51 i 88.0 114.0 1100 SA30T/K 30 M30x2.0 ar 25 66 70 35 110 145 50.80 0.3 17 88.0 114.0 1100 (.g
® SI35T/K 35 M36x2.0 43 28 50 125 81 1655 17 46 58 57.10 56 16 101 206 1600 SA35T/K 35 M36x2.0 43 28 85 81 41 140 180.5 57.10 0.3 16 101 2086 1640 2
SI40T/K 40 M42x2.0 49 33 556 142 81 1875 19 53 65 66.60 60 17 124 280 2400 SA40T/K 40 M42x2.0 49 33 a0 91 46 150 195.5 66.60 0.3 17 124 280 2300
SIS0T/K 50 M48x2.0 60 45 65 160 117 2185 23 65 75 B250 65 12 308 485 5000 SA50T/K 50 M48x2.0 60 45 105 aflrs 59 185 243.5 82,50 0.3 12 308 485 4800
i =

-EELRERL, MARSEMR “L",
—For left-hand thread,please add surffix “L” ,e.g.SIL 18 T/K.

HAEEE,

111 www.zjgreenleaf.com

Hitn: SIL18 T/K.

WEMEISEM “S"” Hlin SIBT/KS,

~If needs the stainless steel mitering please to add “S” behind the model row for example:SI8T/K S.

-EHRLEES, WMANSEM L,

flgn: SAL 18 T/K.

—For left-hand thread,please add surffix “L"” ,e.g.SAL 18 T/K.

~-MBEAH WA, WEAEEEM “S” Hli SABT/KS,

~If needs the stainless steel mitering please to add “S” behind the model row for example:SA8T/K S.

www.zjgreenleaf.com ]2



0
o
o
m
=
o
W
[0}
o
=
=
©Q
»

e, 2

GREEN LEAF GREEN LEAF
i 51 4 # 51 #8

PHS POS

B
-« >
i C+ 4
I
:/77‘ A
A
t 24 Ris t
di d k dk A
1\
. S — _‘_{ﬁ N
i /\'\._.‘
s ’ = T
Maintenance required ! L2 Maintenance required
! h
B R AT LR ARNAERY " W AT IR A S R RE S B HE R SR
Rod body with left or right-hand female thread ! L Rod body with left or right-hand female thread
i 1
W SN K E R R ﬁ W SERERAE BN
Outer race lined with bronze liner ; Out lined with b I
I ! ] uter race lined with bronze liner
B iTiREREES  FEBA IR - & W FFREREHES , AEBLRARF
Sur_fac.e of rod body zinc‘ plated , rod body with a ds Surface of rod body zinc plated , rod body with a
lubricating hole or grease nipple lubricating hole or grease nipple

R~fmm KN
(Dimensions) Load ratings
--H-I-Iﬂﬂ ,

PHS 5 M5X0.8 9 4 3.25 570 16
PHS 6 6 M6X1.0 9 Ba75) (N 12| 181l 38 30 5 10.0 13 127 8.96 13 4.30 7.20 22
PHS 8 8 M8X1i25 12 9 14 16 22 47 36 5 12.5 16 15.875 10.4 14 7.20 11.6 47 = R~fmm S FrKN
B s (Dlmensmns Load ratings
PHS 10 TN [MA0XARS e | [1e:50 Syl (R0 26 S56T (43 6.5 15.0 19 19.05 129 13 10.0 14.5 77 =89
Part Number Weight

Fhdyn.c ¥astat.co eig
PHS 10-1 10 M10X1.25 14 105 17 20 26 56 43 6.5 15.0 19 19.05 12.9 13 10.0 14.5 77
PHS 12 12 |IMI2X1.75 | 16| 2 g 22 80| 65 50 6.5 17.5 22 22225 154 13 13.4 170 100 POSS5 M5X0.8 16 2 3 e i 7.70 13 3.25 5.70
PHS 12-1 12 ME2X1:25 16 12 19 22 30 85 50 6.5 17.:5 22 22,225 154 13 13.4 17.0 100 POS 6 6 M6X1.0 9 6.76 22 18 36 45 12.70 0.3 8.96 13 4.30 7.20 20
PHS 14 140 (MT4X2:00 | 12 1315 |22 |N256 84| 74 57 8 20.0 25| 254 16.9 16 170 24.0 160 POS 8 8 M8X1.25 12 9 25 22 42 53 15.875 0.3 10.4 14 7.20 16 30 Be
PHS 14-1 14 M14X1.56 19 136 22 256 34 74 57 8 20.0 248|255 16.9 16 1240 24.0 160 POS 10 10 M10X1.5 14 10.5 29 26 48 61 19.05 0.3 128 | 13 10.0 14.5 55 o
PHS 16 16 M16X2.0 210 s 24 28 38 83 64 8 22.0 27 28.575 19.4 15 21.6 28.5 220 POS12 12 M12X1.75 16 12 33 30 54 69 22229 0.3 15.4 13 13.4 17.0 85 %
PHS 16-1 16 M16X1.5 21 15 24 28 38 83 64 8 22.0 27 28.575 19.4 15 216 28.5 220 POS 14 14 M14X2.0 180 513151 s 34 60 e 25.40 0.3 16.9 16 17.0 24.0 140 >

o
PHS 18 18 M18X1.5 28 16.5 27 | 32 42 B2 7l 10 25.0 31| 811 || 219 15| 26.0 42.5 320 POS 16 16 M16X2.0 21 18 40 38 66 85 28.575 0.3 19.4 15 21.6 28.5 210 @
PHS 20 20 M20X1.5 25 18 30 33 46 100 77 10 27.5 34 34.925 24.4 14 315 42.5 420 POS 18 18 M18X1.5 23 16.5 44 42 T2 94 31.75 0.3 21.9 15 26.0 42.5 280 g
PHS 22 22 M22X1.5 28 20 32 (|37 | S0 =, B4 12 30.0 38 38.100 25.8 |15 380 57.0 540 POS 20 20 M20X1.5 25 18 47 46 78 101 34.925 0.3 244 15 315 52.5 380 =
PHS 25 25 M24X2.0 31 22 36 42 60 124 94 12 33.5 42 4285 29.6 15 47.5 68.0 730 POS 22 22 M22X1.5 28 20 51 50 84 i) 38.10 0.3 25.8 15 38.0 57.0 480 (.g
PHS 28 28 M27X2.0 35 24 41 48 66 136 103 14 37.0 46 47.6 32.3 15 58.0 75.0 980 POS 25 25 M24X2.0 ai 22 57 60 94 124 42.85 0.3 29.6 15 47.5 68.0 640 2
PHS 30 30 M30X2.0 37 25 41 51 70 145 110 15 40.0 50 50.8 34.8 17 64.0 88.0 1100 POS 28 28 M28X2.0 35 24 62 66 103 136 47.60 0.3 323 15 58.0 75.5 960
PHS 30-1 30 M27X2.0 37 25 41 51 70| S45T a0 15 40.0 50 50.8 34.8 17 64.0 88.0 1100 POS 30 30 M30X2.0 37 25 B6 70 110 145 50.80 0.3 348 1T 64.0 88.0 1100
= E
EAERERS, WBARSEM ", fla: PHSLS. ~EREEEL, WABSEM L , HW: POSS.

—For left-hand thread, please add suffix “L"” ,e.g.PHSL8. —For left-hand thread, please add suffix “L"” ,e.g.POSL 8.
-MEARGERAE, HEMEE@EM “S” #lnPHSBS, -MBEBAFERH R, HEALEEM “S” Hi0POSBS,
-If needs the stainless steel mitering please to add “S" behind the model row for example:PHS 8 S. -If needs the stainless steel mitering please to add “S" behind the model row for example:POS 8 S.

113 www.zjgreenleaf.com www.zjgreenleaf.com |14



e,

GREEN LEAF
i 51 4

2

I
GREEN LEAF
W 51

PHSB POSB

ds 1+ n—t" d

OO TR e

Lz

R~fmm (Dimensions

- T we | Rdmm@mensions) | e
_ =5 '-n--------
0.19 1.536 1.250
6250 312
1900 6250 312 Se 018 138 1.06 S (P | POSB 5 = - 5 - 780 2090 13 14
BhEhas sl e B e | e s el | e . e | 4826 15.88 7.92 6.35  -32UNF  39.70 31.75  19.05 7.77
: ' ' : Sl : ; : : B E— e oi1 0.25 1.937 1.562  1.000 355
2500 7500 375 281 975 0% 468  1.69  1.31 L poSB4 : : : 1/4 - = = - 1030 3040 13 23
PHSB 4 6.35 19.05 9.53 714 _ogy 49.20 _39.67  25.40 9.02
6.35 19.05 9.53 7.14 953 _pgUNF 11.9 429 333 19.1 9.02 28UNF
0.3125 St e e Ak 0.3125 2.312 1.875  1.250 447
3125 8750 437 344 437 O 1%° 500 1.81  1.38 750 | | e | aiee |l s POSB5 ' ' : 5/16 ” = - - 1530 3800 13 36
PHSB 5 7.938 2223  11.10 8.74  _p4UNF  58.72 47.63  31.75 11.35
7.938 2223 1110 874 11.10 _24UNF 127 46 349 191 11.35
M preeemonl [ 00 406 0.375 2.438 1.938  1.250 517
8750 1.000 500 406 562 O3 687 213  1.63 e i B s L 1a | POSBE : : : 3/8 = = L 2 2080 4980 13 54
PHSE 6 3/8 9.525 2540  12.70 10.31 _D4UNF 61.93 4923 3175 13.13
9.525 2540 12.70 10.31 14.27 175 54 413 238  13.13
: E . . : -02‘1;’;\'5’: E s - 2 i | ane — e 0.4375 2.688 2.125 1.875 .586
4375 1125 562 437 625 O3 750 238 1.81 1068 | 888 | uins | gnns |lae | e POSB7 ' : / 7116 - - - - 2520 6020 13 77
BHER? || ees | qage | wie | toss LRl e 46 o e 1111 2858 1427 1110  -20UNF  68.28 53.98  34.93  -14.88
0.5 5000 1.312 625 500 = St 2448 1500 658
pHsgp 5000 1312 625 500 750 O-° 875 278  2.13 119 898 .oo0 garo 13 12 POSB 8 12 = . ¥ S 3330 8370 13 127
g 12.70 33.32 1588 12.70 19.05 _20UNF 222 70.6 54 302 17.73 e L s *gogjz';F ;aé?g gggg ?Bs';g 1;‘9733 %3
a 0.625 6250  1.500 750 562 ' ‘ ' ¢ : =4
Pusmig (G850 4500 || FED | 568 | 675 e 1.00 325 250 15 as N en o el el POSB 10 5/8 " 5 ) — 4500 9050 13 186
;” 15.88 3810 19.05 14.27 22.23 _18UNE 25.4 82.6 635 381 21.31 dhibe BapduE Rl o s Bt 4F bl gs_’;gg gségg :”7'23 2;}3; g'
Q bHspip 7500 1.750 875 687 1.000 03545 113 375 2.88 1z osel Fons Lol hia | oes posg 12 F800 | TR0 2t L 3/4 - - - - 6410 12700 13 295 Q
?DJ 19.05 44.46 2223 17.45 254 _16UNF 286 953 73 445 2884 TRo [RAAa Bl UNeR0 0 laas ‘115‘;;“: 255;32 1312: 341"2": fi;gg ?DJ
o PHSB{g 1000 2750 1375 1.000 1.500 11'12{54 175 55 413 248 028 uane gsno 48 GoB Erspae it e BRI e e 11/4 i e - _ 13300 19500 13 1129 o
=3 25.40 69.85 3493 2540  _12UNF  189.7 104.8 5398  32.23 5
= 25.40 69.85 34.93 2540 38.10 -12UNF 445 140 105 54  32.23 =
» »
b= xE

-EHEARY, WRESTMBLRIZER " f1 “E”
Flin: POSB6EL M3/8 x 249k

~For left-hand thread surrix

signeg POSB6L M3/8 x 24gL
MRS EEA SRR

—The surface of sphrical plain with a bronze line
—RMEREES, FEBRTLEHA

—-To plate zine on the surace of rod body the housing with a lubrication or agrease nipple

-FRARY, WRESMELIRIEEM L" f K"
#i4n: POSB6L M3/8 x 24g%&

—~For left-hand thread surrix

signeg POSB6L M3/8 x 24gL
MBI HREEEHR

-The surface of sphrical plain with a bronze line
~-RIMEREES, GRRMILICHRE

-To plate zine on the surace of red body the housing with a lubrication or agrease nipple

“L" is added to bearings number and thread “L” is added to bearings number and thread

115 www.zjgreenleaf.com www.zjgreenleaf.com ] ]6



0
o
o
m
=
o
W
[0}
o
=
=
©Q
»

e,

GREEN LEAF
i 51 4

Maintenance free
W AT IR AT A HE B A HERY SR AL
Rod body with left or right-hand female thread

W AT IR A

Rod body pressed around inner ring

W SMERE IR PTFE &R

Outer race lined with PTFE composite material

WiTiH A RE RS

Surface of rod body zinc plated

NHS 3 M3x 0.5
NHS 4 4  M4x07 7 525
NHS 5 5 M5x08 8 6
NHS 6 6 MB6x1.0 9 6.75
NHS 8 8 MBx125 12 9
NHS 10 10 Mi0Ox1.5 14 10.5
NHS10-1 10 M10x1.25 14 10.5
NHS12 12 M12x1.75 16 12
NHS12-1 12 M12x1.25 16 12
NHS14 14 M14x2.0 19 135
NHS14-1 14 M14x1.5 19 13.5
NHS16 16 M16x2.0 21 15
NHS16-1 16 M16x1.5 21 15
NHS18 18 M18x15 23 165
NHS20 20 M20x1.5 25 18
NHS22 22 M22x15 28 20
NHS25 25 M24x2.0 31 22
p=

-ERERBL, WRINSEM L,

117 www.zigreenleaf.com

fHi4m: NHS18L .,
—For left-hand thread,please add surffix “L" ,e.gNHS18L .

24
27
30
36
43
43
50
50
57
57
64
64
71
77
84
94

NHS

R~Fmm

Dimensions)

- -E

12
14
18
20
24
28
28
32
32
36
36
42
42
44
50
54
60

31
36
40
48
57
57
66
66
75
75
85
85
93
102
111
124

a
(=8

-« >
>

S

) S —— .

3
o
]

7

D4

7
A 3

Ls

8.5
10
12.5
15
15
175
17.5
20
20
22
22
25
27.5
30
33.5

9.5
11
13
16
19
19
22
22
25
25
27
27
31
34
38
42

7.89
9.49
11.11
12.70
15.875
19.05
19.05
22.225
22.225
25.40
25.40
28.575
28.575
31.75
34.925
38.10
42.85

12
10
12
16
20
20
22
22
25
25
28

32
33
37
42

L4

12
13
13
14
13
13
13
13
16
16
15
15
15
14
15
15

KN

5.70
7.20
11.6
14.5
14.5
17.0
17.0
24.0
24.0
28.5
28.5
42.5
42.5
57.0
68.0

100
100
160
160
220
220
320
420
540
720

2

I
GREEN LEAF
W 51

NOS

Maintenance free

W R AR T A AT RE 2 A R AT R EL
Rod body with left or right-hand female thread

Lz
h BT ERTE

Rod body pressed around inner ring

W SrEERE A PTFE & A

Quter race lined with PTFE composite material

: B TR R
ds Surface of rod body zinc plated

—
w

= R~fmm KN
H 5 (Dimensions) Load ratings

Part Number i
e Zhdyn.c | ghstat.co

NOS 3 3 M3x0.5 2.00 10

NOS 4 4 M4 x0.7 7 525 14 30 a7 17 12 2.5 2.90 12

NOS 5 5 M5x 0.8 8 6 18 33 42 20 13 570  6.00 13

NOS 6 6 M6x1.0 9 675 20 36 46 22 13 720  7.65 20 By
NOS 8 8 M8 x 1.25 12 9 2 42 54 25 14 116 129 38 =3
NOS 10 10 M10x1.5 14 105 28 48 62 29 13 145  18.0 55 g‘
NOS 12 12 M12x1.75 16 12 32 54 70 33 13 17.0  24.0 85 o
NOS 14 14 M14x2.0 19 135 36 60 78 36 16 240  31.0 140 PDJ
NOS 16 16 M16x2.0 21 15 a2 66 87 40 15 285  39.0 210 o
NOS 18 18 M18x1.5 23 165 44 72 94 44 15 425 475 280 S
NOS 20 20 M20x 1.5 25 18 50 78 108 47 14 425  57.0 380 =
NOS 22 22 M22x 1.5 28 20 54 84 111 50 15 570  68.0 480

NOS 25 25 M24 x2.0 31 22 60 94 124 57 15  68.0  85.0 640

b=

~-EREEEE, MARSEM “L” , HlI0: NOS18L .
—For left-hand thread,please add surffix “L" ,e.g.NOS 18 L.

www.zjgreenleaf.com ] ] 8



0
o
o
m
=
o
W
[0}
o
=
=
©Q
»

e,

GREEN LEAF
i 51 4

SI...ES

Maintenance required

B TR R A £ BE R A BERY R AL
Rod body with left or right-hand female thread

W EiTREFNE X T & GE..E (S ) 3t GE.ES 2RS A

It is made up of a radial spherical plain bearing GE.E ( S ) or
GE..ES 2RS and rod body

WA R A | SI.ES BT AE B h AL S

Surface of rod body zinc plated , housing of SI..ES with

alubricating hole orgrease nipple

I

6

C1
SI6 ES* M6x1.0 6 4.4 34 11 21
SI8 ES” 8 MB8x1.25 8 6.0 15 14 24
SI10 ES” 10 Mi10xt1.5 9 7.0 20 17 29
SI 12 ES* 12 Mi12x1.75 10 8.0 23 12 34
SI15ES 15 M14x2.0 12 10 30 22 40
SI17ES 17 M16x2.0 14 11 34 27 46
SI20ES 20 M20x1.5 16 13 40 32 53
SI25ES 25 M24x2.0 20 17 48 36 64
SI30ES 30 M30x2.0 22 19 56 41 73
SI35ES 35 M36x3.0 25 21 60 50 B2
SI40ES 40 M39x3.0 28 23 65 556 92
S145ES 45 M42x3.0 32 27 65 60 102
SI50ES 50 M45x3.0 35 30 68 65 112
SI60ES 60 M52x3.0 44 38 70 75 135
SI70ES 70 M56x4.0 49 42 80 85 160
SI80ES 80 MB4x40 55 47 85 100 180

: 2

-ERAREEL, MARSHEN “L" , #l: SIL30ES.

—For left-hand thread,please add surffix “L” ,e.g.sil 30es.

SR FLIEd =15, LR H/IECRSEEH, BliN: SI25ES 2RS,

—For bearings d=15 ,SI..ES 2RS also available,e.g.SI 25 ES 2RS.
BB SRR AL R AR

—Lubricating hole or grease nipple isn’ t available for the sizes marked

119 www.zigreenleaf.com

30
36
43
50
61
67
T
94
110
125
142
145
160
175
200
230

il

103.5
126
146.5
166
188
196
216
242.5
280
320

10
12
15
15
18
20
20
20
20
25

27.5
33.5
40
47
52
58
62
70
80
95

110

10
13
16
18
22
25
29
35.5
40.7
47
53
60
66
80
82
105

urs
o

5D o ;o N e N ©

T 1
Load ratings

180
220
350
640
930
1300
2000
2500
3500
5500
8600
12000

SA...ES

o | P ——— 1L ] S

o

I

Part Number

SAGES" 6 M6x 1.0 6 44 18 21
SABES" 8 M8 x 1.25 8 6 22 24
SA 10 ES* 10 M10x1.5 9 7 26 29
SA 12 ES* 12 M12x1.75 10 8 28 34
SA15ES 15 M14x2.0 12 10 34 40
SA17ES 17 M16x2.0 14 11 36 46
SA20ES 20 M20x 1.5 16 13 43 53
SA25ES 25 M24x2.0 20 17 53 64
SA30ES 30 M30x2.0 22 19 65 73
SA35ES 35 M36 x 3.0 25 21 82 82
SA40ES 40 M39x3.0 28 23 86 92
SA45ES 45 M42 x 3.0 32 27 94 102
SAS50ES 50 M45 x 3.0 35 30 107 112
SAB0ES 60 M52 x 3.0 44 38 115 135
SA70ES 70 M56 x 4.0 49 42 125 160
SAB0ES 80 M64 x 4.0 55 47 140 180
=

-HRIHERY, WARSEM “L" , Hi0: GAR 3000,

—For left-hand thread,please add surffix “L" ,e.g.GAR 30 QO.
~HhRFLIEd =15, AT HIiE2RSESH, Flin: GAR 25 00 2RS,

—For bearings d=15 ,SI..ES 2RS also available,e.g.GAR 25 OO0 2RS.
- BB SRR R FLE MR

—Lubricating hole or grease nipple isn’ t available for the sizes marked

el

11
14
15
17
20
23
27
32
37
4
46
51
56
68
80
20

2

I
GREEN LEAF
W 51

Maintenance required

W T AT R A RE S A AR A RS
Rod body with left or right-hand female thread

W A AR08 GE..E (S ) 5 GE..ES 2RS £

It is made up of a radial spherical plain bearing GE..E ( S ) or
GE..ES 2RS and rod body

BT AR S | SI.ES T iRaa R A SaR
Surface of rod body zinc plated , housing of SI..ES with

alubricating hole orgrease nipple

175

Load ratings

36 465 10 0.3 13 3.40 8.15 17

42 54 13 0.3 15 5.50 12.9 29

48 62.5 16 0.3 12 8.15 17.6 51

54 71 18 G:3 |1 10.8 24.5 86

63 83 22 0.3 8 17.0 36.0 140

69 a2 25 0.3 10 21.2 45.0 190

78 1045 29 0.6 9 30.0 60.0 310

94 1260 355 06 7 48.0 83.0 560

110 146.5 40.7 0.6 6 62.0 110 890

140 181 47 0.6 6 80.0 146 1400 = |

150 196 53 0.6 7 100 180 1800 8_

163 214 60 0.6 i 127 240 2600 m

185 241 66 0.6 6 156 290 3400 g_

210 277.5 80 1.0 6 245 450 5900 oy}

235 315 92 140 6 315 610 8200 g

270 360 105 1.0 6 400 750 12000 g
(@]
w

www.zjgreenleaf.com ]2()



e, 2

GREEN LEAF GREEN LEAF
i 51 4 # 51 #8

GIR...C,GIR..ET 2RS GAR...C,GAR..ET 2RS

. B
Gl P B >
I
2 m
> B
7 > 1
o, .
i 7
d| =Tkt S
7% y 1| Ris
N \“ / d :
) ./ i \:?\‘t? v ;\\ d«
Maintenance -free % i— ‘\/i y ~\‘(
W R AR R i Ulwoce Maintenance -free
3 1 I
Rod body with left or right-hand female thread i Ls : e T T,
W BT [ 58 B vk T Hi A& GE..UK 2 GE..ET 2RS ! g - Rod body with left or right-hand female thread
4 ]
I'tﬁ.ﬁi P, ST ' b L W £ £F i AR 160 B2 55 036 5 B 7K GE..UK 3% GE..ET 2RS
is made up of a maintenance free radial sphericai plain . ds | : AR
| ;Tji':-i iﬁmﬂﬁbi P W : It is made up of a maintenance free radial sphericai plain
. ds WiTR A REES ‘
| Surface of rod body zinc plated

Rsfmm e A

B S (Dimensions) Load ratings B 5 i Load ratings
Part Number n-ﬂn d - Part Number
GIR6C 6 MBX1.0 6 4.4 21 11 11 10 13 5 30 405 10 13 3.60 8.15 21 GARGC 6 M6X1.0 6 44 21 46.5 36 11 18 10 0.3 13 3.60 8.15 17
GIR8C 81 [MeX1: 25 N8| NG 24 s N4 [12:5) 16 5 260 IN4E N N3N NTs 5.85 12.9 39 GARBC 8  M8X1.25 8 6 24 54 42 14 22 13 0.3 15 5.85 12.9 29
GIR10C 10 M10X1.5 9 rd 29 20 17 15 19 6.5 43 575 16 12 8.65 17.6 61 GAR10C 10 M10X1.5 9 it 29 62.5 48 15 26 16 0.3 2 8.65 17.6 51
GIR12 C 12 M12X1.75 10 8 34 23 19 ||| 178 || 122 6.5 50 67 18 11 11.4 24.5 96 GAR12 C 12 M12X1.75 10 8 34 71 54 T 28 18 0.3 i) 11.4 24.5 86
GIR15 C 15 M14X2.0 12 10 40 30 22 21 26 8 61 81 22 8 17.6 36.0 180 GAR15 C 15  M14X2.0 12 10 40 83 63 20 34 22 0.3 8 17.6 36.0 140
%J GIR17C 17 M16X2.0 14 11 46 34 27 24 30 10 67 90 25 10 22.4 45.0 220 GAR17C 17 M16X2.0 14 11 46 92 69 23 36 25 0.3 10 22.4 45.0 190 §
o GIR20C 20 M20X1.5 16 13 53 40 32 275 35 10 77 1035 29 9 3.5 60 350 GAR20C 20 M20X1.5 16 13 53 104.5 78 27 43 29 06 9 31.5 60.0 310 o
g-l GIR25C 25 M24X2.0 20 17 64 48 36 33.5 42 12 94 126 355 7 51.0 83.0 640 GAR25C 25 M24X2.0 20 17 64 126 94 32 53 35.5 (26 51.0 83.0 560 g-l
Q GIR30C 30 M30xX2.0 22 19 73 56 41 40 50 15 110 146.5 40.7 6 66.5 110 930 GAR30C 30 M30X2.0 22 19 73 146.5 110 37 65 40.7 e 6 66.5 110 890 o
(UDJ GIR35ET2RS 35 M36X3.0 25 21 82 60 50 47 58 15 125l F1586: 47 6 112 146 1300 GAR35ET 2RS 35 M36X3.0 25 21 g2 181 140 41 82 47 0.6 6 112 146 1400 (UDJ
E‘J GIR40ET2RS 40 M39X3.0 28 23 92 65 55 52 65 18 142 188 53 T 140 180 2000 GAR40ET 2RS 40 M389X3.0 28 23 92 196 150 46 86 58 0.6 7 140 180 1800 E‘J
{g GIR45ET2RS 45 M42X3.0 32 27 102 65 60 58 70 20 145 196 60 7 180 240 2500 GAR 45 ET 2RS 45 M42X3.0 32 27 102 214 163 B 94 60 DG T 180 240 2600 ‘.g
w GIR50ET2RS 50 M45X.3.0 35 30 112 68 65 62 5 20 160 216 66 6 220 290 3500 GAR50ET 2RS 50 M45X3.0 35 30 112 214 185 56 107 66 0.6 6 220 290 3400 w
GIRBOET2RS 60 M52X3.0 44 38 135 70 75 70 88 20 175 242.5 80 6 345 450 5500 GAR B0 ET 2RS 60 M52X3.0 2 38 135 227.5 210 68 115 80 1.0 6 345 450 5900
GIR70ET2RS 70 M56X4.0 49 42 160 80 85 80 98 20 200 280 92 6 440 610 8600 GAR70ET 2RS 70 M56X4.0 49 42 160 315 235 :10] 125 92 1.0 6 440 610 8200
GIRBOET2RS 80 M64X4.0 55 47 180 85 100 95 110 25 230 | 820 | 105 6 570 750 12000 GARBOET 2RS 80 M64X4.0 55 47 180 360 270 90 140 105 1.0 6 570 750 12000
}‘i 2 fi .
-ER LS, WMAMESFM L , Fli0: GIL 10UK. -EREREEY, WMABSFM L" , M GIL10UK.
-For left-hand thread, please add suffix “L” e.g.GIL 10 UK. -For lefi-hand thread, please add suffix “L” ,e.g.GIL 10 UK.

121 www.zjgreenleaf.com www.zjgreenleaf.com 1272



0
o
o
m
=}
o
vy)
[0}
o
=
=
©Q
»

e,

GREEN LEAF
i 51 4

Straight joint

W BRL S o R B A HE A 4R AL
Ball joint housing with right or left hand thread

WERLERHESEHR

Ball joint housing made of zinc base alloy

BHEBERHEE
With rubber dust seal

#H S

rentunter | ] o oo [0 Ll e L
20 8 11 7 46 24

M5X0.8 9

M6X1.0 10 | 20
M8X1.25 12 24
M10X1.25 14 30
M10X1.5 14 30
M12X1.25 17 32
M12X1.75 17 32
M14X1.5 19 38
M14X2.0 19 38
M16X1.5 22 44
M16X2.0 22 44
M18X1.5 23 45
M20X1.5 27 50
M22X1.5 27 52

SQZ5RS 5

SQZ 6RS 6

SQZ 8RS 8

SQZ 10RS 10
SQZ10RS -1 10
SQZ 12RS 12
SQZ12RS-1 12
SQZ 14RS 14
SQZ 14RS-1 14
SQZ 16RS 16
SQZ16RS-1 16
SQZ 18RS 18
SQZ 20RS 20
SQZ 22RS 22

=

11
12
15
21
17
24
22
28
23
29
25
25
26

12.2
16
19.5
19.5
21
21
23.5
23.5
25.5
25.5
31
29
33

SQZ..RS

8

10
11
11
15
15
A7
17
19
19
20
24
24

d:

di| =1

R ~Tmm
(Dimensions)

55.2
65
74.5
80.5
84
91
103
109
112
118
130.5
133
145

-HRLEABLUE R AN, BRESEM "L" , fii: SQL6RS,

—For left-hand thread of the ball joint housing,please add suffix "L"in added to bearing number,e.g.5QL 6RS

-AHEHIFRBESHSQ

-The type number of ball joints without seal is SQ...

123 www.zjgreenleaf.com

28
32
35
35
40
40
45
45
50
50
58
63
70

o
5
6.5
6.5
6.5
6.5

10
10
12

15
16
18
18
20
20
25
25
27
27
32
38
43

10
12.5
15
15
17:5
17.56
20
20
22
22
25
2v.b
30

13
16
19
19
22
22
25
25
&7
27
31
34
37

=71 |

= D1 D2 Ds ds

#ll

v

20
24
28
28
32
32
36
36
40
40
45
45
50

11
14
17
17
19
19
22
22
22
22
27
30
32

EEEEEEE
- 12 '8 11 i 74 9 15

15
15
15
15
15
18

$1frkn
Load ratings |Weight

2.8
3.7
5.8
8.4

360
360
540
570
750

B S

SQ5RS 5
SQ 6RS 6
SQ 8RS 8

SQ 10RS 10
SQ10RS -1 10
SQ 12RS 12
SQ 12RS-1 12

SQ 14RS 14
SQ 14RS-1 14
SQ 16RS 16
SQ16RS-1 16

SQ 18RS 18
SQ20RS 20
SQ 22RS 22

i

-ERLEEY, WMARNSEM “L” , #li0: SQLE6RS

M5X0.8
M6X1.0
M8X1.25
M10X1.25
M10X1.5
M12X1.25
M12X1.75
M14X1.5
M14X2.0
M16X1.5
M16X2.0
M18X1.5
M20X1.5
M22X1.5

9

10
12
14
14
17
17
19
19
22
22
23
27
27

[
19 29 8 10 21

20
24
30
30
32
32
38
38
44
44
45
50
52

35.5
42.5
50.5
56.5
57.5
64.5
73.5
79.5
79.5
85.5
90

90

95

11
12
15
21
17
24
22
28
23
29
25
25
26

11
14
17
17
19
19
21.5
215
23.5
23.5
26.5
27
28

SQ..RS

26
31

37
43
42
49
56
62
60
66
68
88
70

R=Fmm
(Dimensions)

7T 35 27

8

10
i)
bify
15
15
1T
17
0o
19
20
24
24

40 30
48 36
57 43
57 43
66 50
66 50
75 57
75 57
84 64
84 64
93| =7
(1 T
109 84

4
5

5

6.5
6.5
6.5
6.5

10
10
12

14
17
21
21
25
25
26
26
32
32
34
35
41

Straight joint

W BR Sk R A RS G AR SR AL

Q)

GREEN LEAF
# 51 #8

Ball joint housing with right or left hand thread
WK EEHESEHR

Ball joint housing made of zinc base alloy

B RREHE
With rubber dust seal

10
12.5
15
15
2.5
17.5
20
20
22
22
25
27.5
30

13
16
19
19
22
22
25
25
27
27
31
34
37

—For left-hand thread of the ball joint housing,please add suffix "L"in added to bearing number,e.g.SQL 6 RS
-AEEHEFRUS AHSQ-
-The type number of ball joints without seal is SQ--+

19
23
27
27
31
31
35
35
39
39
44
44
50

BREEEEE
14 9 11 16 9 25

11 25
14 25
17 25
W 25
19 25
19 25
22 25
22 25
22 | 20
22 20
27 20
30 20
32 16

2.2
3.5
6.6
10
10
16
16
19
19
26
26
33
45
48

kN | m
Load =& 9

26
39
68

112

112

164

164

254

254

336

336

464

538

713

www.zjgreenleaf.com |24

0
o
o
m
=
o
vg)
®
o
=
=}
©Q
»




0
o
o
m
=
o
W
[0}
o
=
=
©Q
»

e,

GREEN LEAF
i 51 4

Maintenance required , with female thread

W iR BT R AR R B R A E R

Rod end housing with weldable base and dowel pin

W A0k TiA GE.ES 8 GE..ES 2RS 4T B 4E i,

It is made up of a radial spherical plain bearing GE..ES or
GE..ES 2RS and rod end housing

W T S B R e AL S R

Rod end housing with a lubricating hole or grease nipple

B 2

S

Cl
Weight
I I I Y S I e

GK..DO

R~Fmm
(Dimensions)

GK 10DO* 13.2 38.5

GK12DO* 12 15 10 8 18 34 44 27 18 1.5
GK15D0 15 184 12 10 22 40 51 31 20 2.0
GK17DO 17 207 14 11 25 46 &8 35 23 2.0
GK20DO 20 242 16 13 29 53 645 38 275 2.0
GK25D0O 25 | 293 20 17 355 64 T 45 33 3.0
GK30DO 30 342 22 19 407 73 875 51 375 3.0
GK35DO 35 398 25 21 47 82 102 61 43 3.0
GK40DO 40 450 28 23 53 92 115 69 48 4.0
GK45D0 45 508 32 27 60 102 128 77 52 40
GK50DO 50 559 35 30 66 112 144 88 59 4.0
GK6ODO 60 66.8 44 38 80 135 167.5 100 72.5 4.0
GK70DO 70 77.9 49 42 92. 160 195 115 86 5.0
GK8ODO 80 894 55 47 105 180 231 141 98 5.0

i

—th AT HlE-2RSELLEH, #IMN: GK 50D0 2RS,

—Sealed design also available,e.g.GK 50D0 2RS.

—i T WS TR

—Relubrication not possible for the sizes marked “*" .

125 www.zjgreenleaf.com

o o o o o0 2 B A B B B B~ W

17.5
21
24

27.5

33.5
40
47
52
58
62
70
80
95

22
26
30
a5
42
47
85
62
68
75
90
105
120

i o
=

oo o S~ RO B

8.15
10.8
170
21.2
30.0
48.0
62.0
80.0
100
127
156
245
315
400

L4
hz
6
i JETKN
ratings )

15.6
21.6
32.0
40.0
54.0
72.0
95.0
125
156
208
250
390
510
620

0.041
0.066
0.12
0.19
0.23
0.43
0.64
0.96
1.80
1.80
2.50
3.90
6.60
8.70

iU

Part Number

GF20 DO
GF25 DO
GF30 DO
GF35 DO
GF40 DO
GF45 DO
GF50 DO
GF60 DO
GF70 DO
GF80 DO
GF90 DO
GF100DO
GF110DO
GF120DO

=

100
110
120

GF..DO

Le

h2

55

65

83

100
110
123
140
164
180
226
250
295
360

-t ATl E-2RSA &4, #li: GF70DO 2RS.

-Sealed design also available,e.g.GF 70 2RS.

2

I
GREEN LEAF
W 51

Maintenance required , for welding

W AT IR AR A W R R B

Rod end housing with weldable base

W i A0 KT GELES = GE..ES 2RS i i EE {4 i

It is made up of a radial spherical plain bearing GE..ES or
GE..ES 2RS and rod end housing

W AT A R R AL SR AR

Rod end housing with a lubricating hole or grease nipple

fATEKN
Load ratings

o~

63 38
72.5 45
83.5 o
102.5 61
119 69
132 ire
149.5 88
170 100
197 115
231 141
263 150
295 170
332.5 185
390 210

29 24.2 35 2 30.0 67.0 350

35.5 29.3 42 2 48.0 69.5 530

40.7 34.2 47 2 62.0 118 870

47 39.8 55 2 80.0 196 1500

53 45.0 62 3 100 300 2400

60 50.8 68 3 127 380 3400 %3
66 55.9 75 3 156 440 4400 o
80 66.8 90 4 245 570 7100 gl
92 77.9 105 4 315 695 10500 ;
105 89.4 120l 4 400 780 15000 o)
115 98.1 130 4 490 1340 23500 n:)
130 109.5 150 4 610 1500 31500 cg
140 121.2 160 4 655 2160 48500 2
160 185'5 180 4 950 3250 79000

www.zjgreenleaf.com |26




0
o
o
m
=
o
W
[0}
o
=
=
©Q
»

e,

GREEN LEAF
i 51 4

GIHR-..DO

Maintenance required , with female thread and
locking nuts
W PR A RE S A HERY TR

Rod body with left or right-hand female thread

W O TR GE.ES i GE..ES 2RS F#T i EE k4 B

It is made up of a radial spherical plain bearing GE..ES or
GE..ES 2RS and rod end housing

BFHEONEERE
With locking slot and nut
W AR B R R R SRR

Rod end housing with a lubricating hole or grease nipple

ﬂl:l

=1
Part Number n -

6H min
GIHR-K20DO 20 Mi16x1.5 25 3 i 16 19
GIHR-K25D0 25 M16x1.5 25 1T 20 23
GIHR-K 30DO 30 M22x15 32 23 22 28
GIHR-K35D0 35 M28x1.5 40 29 25 30
GIHR-K 40DO 40 M35x1.5 49 36 28 35
GIHR-K50DO 50 M45x1.5 61 46 35 40
GIHR-K60DO 60 M58x1.5 75 59 44 50

GIHR-K70DQ 70 M65x1.5 86 66 49 55
GIHR-K80DO 80 MB80x2.0 105 81 55 60
GIHR-K90DO 90 M100x2.0 124 101 60 65
GIHR-K 100DO 100 M110x2.0 138 111 70 70
GIHR-K 110DO 110 M120x3.0 152 125 70 80
GIHR-K 120DO 120 M130x3.0 172 135 B85 90

p=
-EREEL, WERSEM “L” , #lin: GIHL-K 30 DO,

116
130
154
176
206
230
265
340

—For left-hand thread,please add surffix “L" ,e.g.GIHL-K 30 DO.

127 www.zjgreenleaf.com

105
115
140

85
105
130
150
170
210
235
265
310

di d

7

80 46
80 46
94 50
112 66
135 76
168 90
200 120
237 130
265 160
323 180
360 200
407.5 220
490 257

105
115
130
140
160

D ;N RN o N

At

ad ratings

72.0
72.0
106
153
250
365
400
540
670
980
1120
1700
2900

E=9
Weight
430

480

740
1200
2000
3800
5400
8500
12000
21500
27500
40500
76000

2

GREEN LEAF
# 51 #8

GIHN-K..LO

B
Ci
1
Ry Maintenance required,with fenmale thread and
. Bl locking nuts
1L W A AR RN R
d ? . Rod end housing with right or left-hand female thread
v kY
R W 0 T R GE..LO FIFF ik B4l B
N 8 It is made up of a radial spherical plain bearing GE..LO and
T rod end housing
il [
N mEHEONEERE
With locking slot and nut
o W TR B R R A S
S SR Rod end housing with a lubricating hole or grease nipple

R~fmm T fa

i (Dimensions Load ratings

Part Number s i
Fastat.co

GIHN-K 12LO* 12 T2 11 Mi2x1.25 16.5 17 32 54 38 14 i 32 10.8 24.5 100
GIHN-K 16LO 16 16 14 M14x1.5 21 19 40 64 44 18 14 40 17.6 36.5 200
GIHN-K 20LO 20 20 17 M16x 1.5 25 23 47 T 52 22 17 47 30.0 48.0 400
GIHN-K 25L0O 25 25 22 M20x 1.5 30 29 58 96 65 27 19 54 48.0 78.0 660 Y|
GIHN-K 32LO 32 32 28 M27 % 2.0 38 37 71 118.5 80 32 22 66 67.0 114 1200 8_
GIHN-K 40LO 40 40 33 M33x2.0 47 46 90 146 87 41 26 80 100 204 2100 gl
GIHN-K 50LO 50 50 41 M42x 2.0 58 B 109 179.5 120 50 32 96 156 310 4400 o
GIHN-K 63LO 63 63 83 M48 x 2.0 70 64 136 213 140 62 38 114 255 430 7600 (UDJ
GIHN-K 70LO 70 70 57 M56 x 2.0 80 76 155 245 160 70 42 135 315 540 9500 E‘J
GIHN-K BOLO 80 80 66 M64 x 3.0 90 86 168 270 180 78 48 148 400 695 14500 =
GIHN-K 90LO 390 90 ifi2 M72x 3.0 100 91 185 296 195 85 52 160 490 750 17000 %
GIHN-K 100LO 100 100 84 M80 x 3.0 110 96 210 | 322 210 98 B2 78 610 1060 28000
GIHN-K 110LO 110 110 88 M90 x 3.0 125 106 235 364 235 105 62 190 655 1200 32000
GIHN-K 125L0 125 125 102 M100 x 135 113 260 405 260 120 72 200 950 1430 43000

i

- EREERL, HAUSEM “L” , flin: GIHN-KL 12 LO,
—For left-hand thread,please add surffix “L” ,e.g.GIHL-K 12 LO.

www.zjgreenleaf.com |28



Q)

c,

GREEN LEAF GREEN LEAF
i 2 18 & 31 13

GE..E(S),GE..ES 2RS GEG..E(S),GEG..ES 2RS

w wn
o o
=T =5
[} [}
=3, =
o 1 8
- . T
D =
= Maintenance required =
o D o
[} H D
S mEA G : »
é' Outer ring with single split in axial direction / + (g
» R 3 ¥ .. ES-2RS NV ..ES-2RS a
WES HRENMER R EENEL o 7 {b*rﬁ Maintenance required.heavy-duty
Lubricating grooves and holes in the outher and inner rings of ' g5
type ES
e —C— <% W SNE A B
W 2RS A JhE R T —B « B > Outer ring with single split in axial direction

Outer ring of type-2RS with lip seals in both side ’ g 5
WES 2NBEA/EF D RERETL
B A MERE B E Lubricating grooves and holes in the outher and inner rings of

Both outer and inner rings are properly phosphate treated type ES
W 2RS &S
Quter ring of type-2RS with lip seals in both side
W A SNE R AL
i = i it Both outer and inner rings are properly phosphate treated

Part Number

GEBE

4 . ; R~tmm ARG

Cit IS Dlmensmns) Load ratlngs HE 9

GESE 8 16 8 5 13 03 03 15 5.5 275 7 Gt K | Weigh

GE10E 10 19 9 6 16 0.3 0.3 12 8.15 40.5 11 -
7

GE12E 12 22 10 18 0.3 0.3 11 10.8 54 16 GEGBE 6 16 9 5 13 0.3 0.3 5.50 215 8
GE15ES GE15ES 2RS 15 26 12 9 22 0.3 0.3 8 17 85 25 GEGBE 8 19 1 6 16 0.3 0.3 21 8.15 40.5 14
GE16ES GE16ES 2RS 16 30 14 10 25 0.3 0.3 10 242 106 41 GEG10E 10 22 12 7 18 0.3 0.3 18 10.8 54.0 20
GE17ES GE17ES 2RS 17 30 14 10 25 0.3 0.3 10 2112 106 M GEG12E 12 26 15 9 22 0.3 0.3 18 17.0 85.0 34
GE20ES GE20ES 2RS 20 35 16 12 29 0.6 0.3 9 30 146 61 GEG15ES GEG15ES 2RS 15 30 16 10 25 2.3 0.3 16 212 106 46
GE25ES GE25ES 2RS 25 42 20 16 35.5 0.6 0.6 7 48 240 110 GEG17ES GEG17ES 2RS i 35 20 12 28 0.3 0.3 19 30.0 146 78
GEB0ES GE30ES 2RS 30 47 22 18 40.7 0.6 0.6 6 62 310 140 GEG20ES GEGZ20ES 2RS 20 42 25 16 35.5 0.6 0.6 17 48.0 240 150
GE35ES GE35ES 2RS 35 55 25 20 47 0.6 1.0 6 80 400 220 GEG25ES GEG25ES 2RS 25 47 28 18 40.7 0.6 0.6 17 62.0 310 190
GE40ES GE40ES 2RS 40 62 28 22 53 0.6 1.0 7 100 500 300 GEG30ES GEG30ES 2RS 30 55 32 20 47 0.6 1.0 17 80.0 400 290
GE45ES GE45ES 2RS 45 68 32 25 60 0.6 1.0 7 127 640 400 GEG35ES GEG35ES 2RS 35 62 35 22 53 0.6 1.0 16 100 500 390
GE50ES GE50ES 2RS 50 75 35 28 66 0.6 1.0 6 156 780 540 GEG40ES GEG40ES 2RS 40 68 40 25 60 0.6 1.0 il 127 640 520
GEB0ES GEG60ES 2RS 60 90 44 36 80 1.0 1.0 6 245 1220 1000 GEGA45ES GEGA45ES 2RS 45 75 43 28 66 0.6 1.0 15 156 780 680
GE7VOES GE70ES 2RS 70 105 49 40 92 140, 1.0 6 315 1560 1500 GEG50ES GEG50ES 2RS 50 90 56 36 80 0.6 1.0 17 245 1220 1400
GEBOES GEBOES 2RS 80 120 55 45 105 1.0 1.0 6 400 2000 2200 GEGBOES GEGBOES 2RS 60 105 63 40 92 1.0 1.0 17 315 1560 2000
GES0ES GE90ES 2RS 90 180 60 50 115 1.0 1.0 5 490 2450 2700 GEGY0ES GEG70ES 2ZRS 70 120 70 45 105 1.0 1.0 16 400 2000 2900
GE100ES GE100ES 2RS 100 150 70 55 130 1.0 1.0 7 610 3050 4300 GEGBOES GEGBOES 2RS 80 130 75 50 115 1.0 1.0 14 490 2450 3500
GE110ES GE110ES 2RS 110 160 70 55 140 1.0 1.0 6 655 3250 4700 GEG90ES GEG90ES 2RS 90 150 85 55 130 1.0 1.0 16 610 3050 5400
GE120ES GE120ES 2RS 120 180 85 70 160 1.0 1.0 6 950 4750 8000 GEG100ES GEG100ES 2RS 100 160 85 55 140 1.0 1.0 14 655 3250 5900
GE140ES GE140ES 2RS 140 210 90 70 180 1.0 1.0 7 1080 5400 11000 GEG110ES GEG110ES 2RS 110 180 100 70 160 1.0 1.0 1" 950 4750 1100
GE160ES GE160ES 2RS 160 230 105 80 200 1.0 1.0 8 1360 6800 14000 GEG120ES GEG120ES 2RS 120 210 115 70 180 1.0 1.0 16 1080 5400 1500

129 www.zjgreenleaf.com www.zjgreenleaf.com ] 3()




e, 2

GREEN LEAF GREEN LEAF
i 51 4 # 51 #8

GE..C GEG..C

w w
o o]
= E =
(] (]
= =
(%) ]
] ]
= T
D =
= =3
w o3
(] D
jab) jab]
= =
=] =3
(@] (@]
w w

il .
I
f i Ris Ris
1 /S
: //
|/
D d -4 D d = d1
Maintenance free :
Maintenance free
N AR ; . ‘
. . : 2 B AEFERE
Quter ring pressed aroud inner ring f . )
Quter ring pressed aroud inner ring
W NERE LA PTFE SRR | v T
Quter race lined with PTFE compaosite material i W MEIRE A PTFE SRAH
C Quter race lined with PTFE composite material
W A B IRE AR
B E
Spherical surface of inner ring chromium plated B W RERE R
* » Spherical surface of inner ring chromium plated

Rsfmm gy

~tmm F e
it = Dimensions) Load ratings

A o2 imensions) Loadratings [E& 9

GE6C 6 14 6 4 8 10 0.3 0.3 13 3.6 9.1 4 GEG6C 6 16 9 5 9 13 0.3 0.3 21 5.8 14 8

GE8C 8 16 8 5 10 13 0.3 0.3 15 5.8 14 8 GEGS8C 8 19 11 6 11 16 0.3 0.3 21 8.6 21 14
GE10C 10 19 9 6 13 16 0.3 0.3 12 8.6 21 11 GEG10C 10 22 12 T 13 18 0.3 0.3 18 11 28 21

GE12C 12 22 10 7 16 18 0.3 0.3 10 11 28 15 GEG12C 12 26 15 9 16 22 0.3 0.3 18 18 45 33
GE15C 15 26 12 9 18 22 0.3 0.3 8 18 45 27 GEG15C 15 30 16 10 19 25 0.3 0.3 16 22 56 49
GE17C 17 30 14 10 20 25 0.3 0.3 10 22 56 41 GEG17C il 35 20 12 21 29 0.3 0.3 19 31 78 83
GE20C 20 35 16 12 24 29 0.3 0.3 9 31 78 66 GEG20C 20 42 25 16 24 35.5 0.3 0.3 17 51 127 153
GE25C 25 42 20 16 29 35.5 0.6 0.6 7 51 127 119 GEG25C 25 47 28 18 29 40.7 0.6 0.6 17 65 166 203
GE30C 30 47 22 18 34 40.7 0.6 0.6 6 65 166 163 GEG30C 30 55 32 20 34 47 0.6 0.6 17 83 212 304

131 www.zjgreenleaf.com www.zjgreenleaf.com 372



e, c,

GREEN LEAF GREEN LEAF
i 2 18 & 31 13

PB GE..ET 2RS

w wn
© e
=T =5
(4] [42]
=8 =i
o 0
0 D
Y 9
2. =
= | =
93] o
8 / Rzs g
= [ i =
- LK -
7)) Maintenance required ! T LR SO R « Maintenance free 73]
e VA i
1 H4
mNERE R B : m NS — B
Quter race lined with bronze liner di D| d = \ di Quter ring with single split in axial direction
W SRR R R W SMEEKEREE PTFE 24
With lubricating groove and holes in the outer ring i | Outer race lined with PTFE fabric
| %gg;miﬁqmgﬁ JBEL RERNEA EATEE, B AEEES TS
Wear-resist Ince and self-lligning , appvtolow speed and heay Quter ring with ipiseals in both sides
load mechanism B A B
BB EERE N/ BHE Spherical surface of inner ring chromium plated

Sliding contact surfaces : Steel/Bronle B NEEE R A E
Quter ring properly phosphate treated

_ Rtmm AT _
#a £ Dimensions) Load ratings |&E& 9

Part Number ) ) Weight
C min dk min deyn-C fi#stat.co

R~tmm GE15ET 2RS 15 26 12 9 18 22 0.3 0.3 26 52 35

* = H A . =1

5 8 (Dimensions) Load ratings HE 9 GE17ET 2RS 17 30 14 10 20 25 0.3 0.3

(=]

. 10 30 60 4

PartNumber | 4 | o[ o [ o | @ [ B | Be| = [same | meae| VOO GE2EToRs 20 a5 16 12 24 29 o3 o3 8 4 s 6
PBS 5 16 8 6 riEr 0.3 0.3 13 3.3 7.8 9 GE25ET 2RS 25 42 20 16 29 35.5 0.6 0.6 & 68 137 119
PB6 6 18 ) 6.75 9.0 0.3 0.3 13 4.3 9.8 13 GE30ET 2RS 30 47 22 18 34 40.7 0.6 0.6 6 88 176 153
PB8 8 22 12 9 10.4 0.3 0.3 14 6.8 16 24 GE35ET 2RS 35 55 25 20 39 47 0.6 1.0 6 112 224 233
PB10 10 26 14 10.5 12.9 0.3 0.6 14 10 23 39 GE40ET 2RS 40 62 28 22 45 53 0.6 1.0 7 140 280 306
PB12 12 30 16 12 15.4 0.3 0.6 13 13 31 58 GE45ET 2RS 45 68 32 25 50 60 0.6 1.0 7 180 360 427
PB14 14 34 19 13.5 16.9 0.3 0.6 16 i 40 84 GES0ET 2RS 50 75 35 28 55 66 0.6 1.0 6 220 440 546
PB16 16 38 21 15 19.4 0.3 0.6 15 21 50 111 GEBOET 2RS 60 90 4 36 66 74 1.0 e 6 345 695 1040
PB18 18 42 23 16.5 21.9 0.3 0.6 15 26 61 160 GE70ET 2RS 70 105 49 40 77 80 1.0 1.0 6 440 880 1550
PB20 20 46 25 18 24.4 0.3 0.6 15 31 73 210 GEBOET 2RS 80 120 55 45 88 92 1.0 1.0 6 567 1140 2310
PB22 22 50 28 20 25.8 0.3 0.6 15 38 88 260 GE90ET 2RS 90 130 60 50 98 105 1.0 1.0 5 690 1370 2750
PB25 25 56 31 22 29.6 0.6 0.6 15 47 110 390 GE100ET 2RS 100 150 70 55 109 115 1.0 1.0 7 858 1730 4450
PB28 28 62 35 25 32.3 0.6 0.6 15 59 138 530 GE110ET 2RS 110 160 70 55 120 130 1.0 1.0 6 924 1860 4820
PB30 30 66 37 25 34.8 0.6 0.6 17 63 148 610 GE120ET 2RS 120 180 85 70 130 140 1.0 10 6 1340 2700 8050

133 www.zjgreenleaf.com www.zjgreenleaf.com |34



e,

GREEN LEAF
i 2 18

RXTHAE SRR

Interchange table

thE

T B

CHINA SWEDEN
GREENLEAF SKF

GE..E

GE..ES

GE..E

GE..ES

GE..ES 2RS GE..ES 2RS

GEG..E GEH..E
GEG..ES GEH..ES
GEG..ES2RS GEH..ES 2RS
GE..LO GEG..ES
GE..UK GE..C

GE..ET ZRS GE..TE 2TS

PB
GEBJ..S

FAG
GE..E
GE..ES
GE..ES 2RS
GEH..E
GEH..ES

GEH..ES 2RS

GE..C

GE..UA 2RS

GERMANY | GERMANI

ELGES
GE..DO
GE..DO
GE..DO 2RS
GE..FO

GE..FO

GE..

FO 2RS

GE..LO
GE..UK

GE..UK 2RS

GE..PB

4

GERMANI

ASK
GE..

GE..

GE..

GE..

GE

=]

=

H & B HA | BH&
CHINA | JAPAN | JAPAN |JAPAN

LS IKO NTN NMB
GE..E GE..E SAI-.B SBH..NS
GE..ES GE..ES SAI-.B SBH..S

GE..ES 2FRS GE..ES 2RS SAI1-..BSS
GEG..E GE..G
GEG..ES GE..GS

GEG..ES 2RS GE..GS 2RS

GEEW..ES

GE..C GE..EC SARI-..
GE..ET 2RS

GEBK..S PB..

GEBJ..S

GREENLEAF
GIF..UK

GIR..UK 2RS
GAR..UK
GAR..UK 2RS
GIL..UK
GIL..UK 2RS
GAL..UK
GAL..UK 2RS
SQ..RS
SQ..RS-1
SQL..RS
SQZ..RS
SQZ..RS-1
SQZL..RS
GIHR..DO
GIHR-K..DO
GIHL..DO
GIHL-K..DO
GIHN-K..LO
GK..DO
GF..DO

GIHO-K..DO

il
SWEDEN |GERMANY| GERMANI

SKF FAG
SL.C SI..C
SIA.TE2RS SL.TE2RS
SA..C SA..C
SAA.TE2RS SA..TE2RS
SIL..C SIL..C
SILA.TE2RS SIL..TE 2RS
SAL..C SAL..C

SALA..TE 2RS SAL..TE 2RS

SIRD..ES
SIR..ES
SILD..ES
SILR..ES
SIQG..ES
SC..ES

SCF..E

135 www.zjgreenleaf.com

==

ELGES
GIR..UK

GIR..UK 2RS

GAR..UK

GAR..UK 2RS

GIL..UK
GIL..UK 2RS

GAL..UK

GAL..UK 2RS

GIHR..DO
GIHR-K..DO
GIHL..DO
GIHL-K..DO
GIHN-K..DO
GK..DO
GF..DO

GIHO-K..DO

EJ..D
EJ..D 2RS
EA..D
EA..D 2RS
EJL..D
EJL..D 2RS
EAL..D

EAL..D 2RS

ERMAN] CHIINA |JAPAN [JAPAN

HA | B& HZ<

ITALY [JAPAN

LS IKO THK LSK MTR
SL.C GIR..UK
SL.ET 2RS GIR..UK 2RS
SA..C GAR..UK
SA..ET 2RS GAR..UK
SIL..C GIL..UK
SIL..ET 2RS GIL..UK 2RS
SAL..C GAL..UK
SAL..ET 2RS GAL..UK 2RS
SQ..RS LHSA.. RBL..

RBL..B
SQL..RS RBL..L
SQZ..RS RBI..
RBI..B
SQZL..RS RBI..L
SIR..ES
SILR..ES
SIGEW..ES
SK..ES
SF..ES

HE

CHINA

GREENLEAF

SI..E

SI..ES

SI..ES 2RS

SA..E

SA..ES

SA..ES 2RS

SIL..E

SIL..ES
SIL..ES 2RS
SAL...E
SAL..ES
SAL..ES 2RS
SL.T/K
SA..T/K
SIL..T/K

SAL..T/K

NHS..

NOS..

MHSL..
NOSL..

PHS..

POS..

PHSL..
POSL..

SWEDEN [GERMANY| GERMANY

GAR..DO 2RS

SIAL..ES 2RS

SALA..ES 2RS GAL..DO 2RS

GERMANY| CHIINA

ASK

EJ..

EJ..
EJ..2RS
EA..

EA..
EA..2RS
EJL..
EJL..
EJL..2RS
EAL..
EAL..
EAL..2ZRS
KI..-D
KA..-D
KIL..-D
KAL..-D
KI..-BD
KA.-BD
KIL..-BD
KAL..-BD

KI..-=NIRO

KA..-NIRO

KIL..-NIRO
KAL..-NIRO

c,

GREEN LEAF
# 51 #8

BXA

JAPAN | ITALY

LSK

GIR..E
GIR..ES
GIR..ES 2RS

GAR..E

GAR..ES
GAR..ES 2RS
GIL..E
GIL..ES

GIL..ES 2RS

GAL..E
GAL..ES
GAL..ES 2RS
TSF..C
TSM..C
TSFL..C
TSML..C

NHS..T

NOS..T

NHS..TL

NOS..TL

PHS.. TSF..

POS.. TSM..

PHS.. TSFL..

POS.. TSML..

MTR

DF..
DM..
DF..L

DM..L

BNF..
BNM..
BNF..L

BNM..L

www.zjgreenleaf.com |36



	样册2020.11.17_58
	样册2020.11.17_59
	样册2020.11.17_60
	样册2020.11.17_61
	样册2020.11.17_62
	样册2020.11.17_63
	样册2020.11.17_64
	样册2020.11.17_65
	样册2020.11.17_66
	样册2020.11.17_67
	样册2020.11.17_68
	样册2020.11.17_69
	样册2020.11.17_70
	样册2020.11.17_71

